
PC140608
Pre Calculus Placement Test 

PC140608




Page 3


[image: image1.png]aaa Gy aaaa yuadl acals
PRINCE MOHAMMAD BIN FAHD UNIVERSITY




          
Pre Calculus Sample Placement Test
Elementary operations with numerical and algebraic fractions
1. Which of the following is equal to 
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 , if rationalizing the denominator?
(A) 
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(C) 
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Operations with exponents and radicals
2. Which of the following expressions is equal to
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, if simplified?
(A) 
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Linear equations and inequalities, Absolute Values
3. Which of the following intervals is the solution set of the inequality
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(B) 
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(D)  
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Polynomials and polynomial equations
4. Which of the following are roots of
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Complex Numbers
5. Which of the following is the standard form of 
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Functions, Transformation of functions
6. What is the inverse function 
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Trigonometry
7. What is the numeric value of 
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8. What is the numerical value of 
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(A) 
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9. What are the solutions to the trigonometric equation 
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     (D)  No Solution
10. What is the area of the triangle ABC?

           B



6 cm

       5 cm
    A




   C


7 cm

(A) 
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Logarithmic and exponential functions
11. What is the value of
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12. What is 
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(A)
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             (D) Undefined
13. What is 
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Matrices and Determinants
14. Given A = 
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(B) 
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(C) 
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(D) 
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15. The number of PMU students taking Calculus I for the next semester is supposed to 
       be 127 . The number of males will be one more than 
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 of the females. How many

       female students will be enrolled in Calculus I ?  
            (A) 53                      (B) 54                     
(C) 52            

(D) 55
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